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Verify the following identities.
. sin(x)+cos(x) " sin(x)cos(x) ge-e Scverlch
sec(x)+csc(x)
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Express in terms of a single sine function.
3. y = —V3sin(x) + cos(x)




Write the product as a sum. v’
4. sin(2x)cos(3x) v
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5. sin(x)sin(5x)
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6. Determine tan (g) when sec(0) = %and 270° < 6 < 360°
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7. Reduce the power to a single sine for sin®(x)
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Determine the exact value for the following.
g.d A
8. cos ( ﬁ)
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9. sin™?! —% M . Vs
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10. tan™! (%) e Y
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11. tan~*(—v3) - 1; W
12. tan (sin‘1 (é)) ~—
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13. cos™1 (Zsin (g))
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14. sin (s;in‘1 G) + cos™! G)) . f D

Height of a Balloon- A 680-ft rope anchors a hot-air balloon.
15. Express the angle 6 as a function of the height h o f the balloon.
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16. Determine the angle 8 when the ballonn is 600 feet.
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